# GENERALIZED FOURIER INTEGRALS 

Sumiyuki Koizumi and Gen-ichirô Sunouchi

(Received September 8, 1953)
Introduction. Concerning the representation of functions by the generalized Fourier integrals, H. Hahn [4] proved the following theorem (cf. Titchmarsh [7, p.14]):

Let $f(x) /(1+|x|)$ belong to $L(-\infty, \infty)$ and write

$$
\begin{aligned}
& \Phi_{1}(v)=\int_{-\infty}^{\infty} f(y) \frac{\sin v y}{y} d y \\
& \Psi_{1}(v)=\int_{-1}^{+1} f(y) \frac{1-\cos v y}{y} d v-\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{\cos v y}{y} d y
\end{aligned}
$$

Let $f(t)$ satisfy a condition of convergence of Fourier series in the neighbourhood of $t=x$. Then

$$
f(x)=\frac{1}{\pi} \int_{\rightarrow 0}^{\rightarrow \infty}\left\{\cos v x d \Phi_{1}(v)+\sin v x d \Psi_{1}(v)\right\}
$$

where the integral is defined appropriately.
Another Hahn's generalization [3] is of the following form :
Let $f(x) /\left(1+|x|^{2}\right)$ belong to $L(-\infty, \infty)$ and write

$$
\begin{aligned}
& \Phi_{2}(v)=\int_{-\infty}^{\infty} f(y) \frac{1-\cos v y}{y^{2}} d y \\
& \Psi_{2}(v)=\int_{-1}^{1} f(y) \frac{v y-\sin v y}{y^{2}} d y-\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{\sin v y}{y^{2}} d y
\end{aligned}
$$

for $v \geqq 0$, and

$$
\Phi_{2}(v)=\Psi_{2}(v)=0
$$

for $v<0$. Then

$$
f(x)=\frac{1}{\pi}(C, 1) \int_{-0}^{\infty}\left\{\cos v x \frac{d^{2} \Phi_{2}(v)}{d v}+\sin v x \frac{d^{2} \Psi_{2}(v)}{d v}\right\}
$$

for almost all $x$, where

$$
(C, 1) \int_{-0}^{\infty}\left(\quad \text { ) means } \lim _{\lambda \rightarrow \infty} \lim _{\epsilon \rightarrow 0} \int_{-\epsilon}^{\lambda}\left(1-\frac{v}{\lambda}\right)()\right.
$$

Professor S.Izumi [6] further generalized these theorems for the case $f(x) /\left(1+|x|^{\alpha}\right) \in L(-\infty, \infty)$, where $1<\alpha<2$, or $\alpha=2,3,4, \ldots$. Although Professor Izumi used the mean convergence for $\alpha=3,4, \ldots$, this is seemingly unnatural. The object of this paper is to generalize these theorems for the arbitrary $\alpha$. Since the equivalence of Bessel summation and Cesàro summation is well known (cf. Hardy-Littlewood [5]), we shall use Bessel summation. This is suitable for the behaviour of $f(x)$ at the infinity. In § 1, we summalize some results of Bessel summation. The generalized Stieltjes integral of Hahn-Izumi type is defined in §2. The main theorem is proved in §3. In §4 we extend Burkill's theorem. Our theorems are refinement and generalization of Izumi's. In the last paragraph we shall treat the case where

$$
|f(x)|^{p} /\left(1+|x|^{\alpha}\right) \text { belongs to } L(-\infty, \infty) \text { for } p>1 \text { and } \alpha>1
$$

1. Bessel summation. K.Chandrasekharan and O.Szàsz [2] derived many valuable results concerning Bessel summability. For the use of the following articles, we present some results of this summability.

Let $J_{\mu}(t)$ denote the Ressel function of order $\mu$ :

$$
J_{\mu}(t)=\frac{t^{\mu}}{2^{\mu}} \sum_{\nu=0}^{\infty}(-1)^{\nu} \frac{t^{2 \nu}}{2^{2 \nu} \nu!\Gamma(\mu+\nu+1)}, \quad \quad \mu>-\frac{1}{2}
$$

and let

$$
\alpha_{\mu}(t)=2^{\mu} \Gamma(\mu+1) J_{\mu}(t) / t^{\mu}
$$

then we have

$$
\alpha_{\mu}(0)=1
$$

and

$$
\alpha_{\mu}(t)=O\left(t^{-\mu-\frac{1}{2}}\right), \text { as } t \rightarrow+\infty .
$$

Since

$$
\int_{0}^{\infty} 2^{\mu-\frac{1}{2}} \Gamma\left(\mu+\frac{1}{2}\right) x^{-\mu} J_{\mu}(x) \cos x t d t=\left\{\begin{array}{cl}
\left(1-t^{2}\right)^{\mu-\frac{1}{2}}, & 0 \leqq t \leqq 1 \\
0, & t>1
\end{array}\right.
$$

we have

$$
C(\mu) \int_{0}^{\infty} \alpha_{\mu}(x) \cos x t d x=\left\{\begin{array}{cl}
\left(1-t^{2}\right)^{\mu-\frac{1}{2}}, & 0 \leqq t \leqq 1 \\
0, & t>1
\end{array}\right.
$$

where

$$
C(\mu)=\Gamma\left(\mu+\frac{1}{2}\right) /(\sqrt{\pi} \Gamma(\mu+1))
$$

Putting $t=0$, we get

$$
C(\mu) \int_{0}^{\infty} \alpha_{\mu}(x) d x=1
$$

From the inversion formula we get

$$
\frac{2}{\pi} \int_{0}^{1}\left(1-t^{2}\right)^{\mu-\frac{1}{2}} \cos x t d t=C(\mu) \alpha_{\mu}(x) .
$$

Under these preparations we can prove
Lemma 1. If $f(x) /\left(1+|x|^{\alpha}\right)$ belongs to $L(-\infty, \infty)$ for $\alpha>1$, then we have

$$
f(x)=\frac{1}{\pi} \lim _{\lambda \rightarrow \infty} \int_{-\infty}^{\infty} f(y) d y \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v(y-x) d v, \text { a.e. }
$$

Proof. From the above formula,

$$
\begin{aligned}
& \frac{1}{\pi} \int_{-\infty}^{\infty} f(y) d y \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\mu-\frac{1}{2}} \cos v(y-x) d v \\
& \quad=\frac{C(\mu) \lambda}{2} \int_{-\infty}^{\infty} f(y) \alpha_{\mu}\{\lambda(y-x)\} d y \\
& \quad=\int_{-\infty}^{\infty} f(y) K_{\mu}\{\lambda(y-x)\} d y
\end{aligned}
$$

say. Since $\boldsymbol{\alpha}_{\mu}(t)$ is bounded in the neighbourhood of $t=0$,

$$
K_{\mu}\{\lambda(y-x)\}=O(\lambda), \text { for }|y-x| \leqq \frac{1}{\lambda}
$$

and

$$
K_{\mu}\{\lambda(y-x)\}=O\left(\lambda^{-\mu+\frac{1}{2}}|y-x|^{-\mu-\frac{1}{2}}\right), \text { for }|y-x|>\frac{1}{\lambda} .
$$

Further,

$$
\begin{gathered}
\lim _{\lambda \rightarrow \infty} \int_{x}^{\infty} K_{\mu}\{\lambda(y-x)\} d y=\lim _{\lambda \rightarrow \infty} \int_{x}^{\infty} \frac{C(\mu) \lambda}{2} \alpha_{\mu}\{\lambda(y-x)\} d y \\
=\frac{C(\mu)}{2} \int_{0}^{\infty} \alpha_{\mu}(t) d t=\frac{1}{2}
\end{gathered}
$$

and

$$
\lim _{v \rightarrow \infty} \int_{-\infty}^{x} K_{\mu}\{\lambda(y-x)\} d y=\frac{1}{2} .
$$

If $f(x) /\left(1+|x|^{\mu+\frac{1}{2}}\right) \in L(-\infty, \infty)$, and $\mu+\frac{1}{2}>1$, then we have

$$
\lim _{\lambda \rightarrow \infty} \int_{-\infty}^{\infty} f(y) K_{\mu}\{\lambda(y-x)\} d y=f(x), \text { a.e. }
$$

by the general convergence theorem (cf. Titchmarsh [7, p.28]). Let $\mu+\frac{1}{2}$ $=\alpha$, we get the desired results.
2. Generalized Stieltjes integral. H. Hahn [3] defined the following Stieltjes integral. Let $f(x)$ and $g(x)$ be defined in ( $a, b$ ), and suppose that $g(x)$ is absolutely continuous and $f(x)$ is bounded and continuous in (a.b). Then $g^{\prime}(x) f(x)$ is integrable in $(a, b)$, and we define the integral of $g(x)$ with respect to $f(x)$ by the equation:

$$
\int_{a}^{b} g(x) d f(x)=g(b) f(b)-g(a) f(a)-\int_{a}^{b} g^{\prime}(x) f(x) d x .
$$

It is easily seen that this integral coincides with the ordinary LebesgueStieltjes integral when $f(x)$ is of bounded variation. Prof. Izumi [6] generalized this definition. Further we generalize it in the following manner. Let $\alpha$ be any positive real number, then there is an interger $k$ such that

$$
k-1<\alpha \leqq k
$$

and let

$$
h=k-\alpha .
$$

Put the integral

$$
I^{h} f(x)= \begin{cases}\frac{1}{\Gamma^{\prime}(\lambda)} \int_{0}^{x}(x-y)^{h-1} f(y) d y, & \text { if } h>0 \\ f(x), & \text { if } h=0\end{cases}
$$

and denote

$$
\begin{aligned}
& \Delta_{\epsilon}^{k} I^{h} f(x)=\sum_{\nu=0}^{k} A_{\nu}^{(-k-1)} I^{h}(x+\nu \varepsilon), \\
& \Delta_{\epsilon}^{k} I^{h} f(x)=\sum_{\nu=0}^{k} A_{\nu}^{(-k-1)} I^{\prime \prime}(x-\nu \varepsilon),
\end{aligned}
$$

where

$$
A_{n}^{(m)}=\binom{m+n}{n}
$$

Suppose that $g(x)$ is everywhere differentiable $(k-1)$ times and $g^{(k-1)}(x)$. is absolutely continuous in ( $a, b$ ), and that $f(x)$ is continuous and bounded in ( $a, b$ ). If the limits

$$
\lim _{\epsilon \rightarrow 0} g^{(r)}\{a+(k-r-1) \varepsilon\} \underset{\epsilon}{\Delta_{\epsilon}^{k-r-1}} l^{h} f(a) / \varepsilon^{k-r-1}
$$

$$
\begin{aligned}
\lim _{\epsilon \rightarrow 0} g^{(r)}\{b-(k-r-1) \varepsilon\} & \Delta_{e}^{k-r-1} I^{\prime \prime} f(b) / \varepsilon^{k-r-1} \\
& (r=0,1,2, \ldots, k-1)
\end{aligned}
$$

exist and are finite, we define

$$
\begin{aligned}
\int_{a}^{b} g(x) \frac{d^{\alpha} f(x)}{d x^{\alpha-1}}=g(b) I^{1-\alpha} f(b) & -g(a) I^{1-\alpha} f(a) \\
& -\int_{a}^{b} g^{\prime}(x) I^{1-\alpha} f(x) d x
\end{aligned}
$$

if $0<\alpha \leqq 1$, and for any positive $\alpha$, we define by induction

$$
\begin{aligned}
& \int_{a}^{b} g(x) \frac{d^{a} f(x)}{d x^{\alpha-1}}=\lim _{\epsilon \rightarrow 0} g\{b-(k-1) \varepsilon\}_{\epsilon}^{\Delta_{*}^{k-1}} I^{h} f(b) / \varepsilon^{k-1} \\
&-\lim _{\epsilon \rightarrow 0} g\{a+(k-1) \varepsilon\} \underset{\epsilon}{\Delta_{\epsilon}^{k-1}} I^{h} f(a) / \varepsilon^{k-1}-\int_{a}^{b} g^{\prime}(x) \frac{d^{\alpha-1} f(x)}{d x^{\alpha-2}} .
\end{aligned}
$$

Then we have
Lemma 2. If $f(x)$ is differentiable $(\alpha-1)$ times at $x=a$ and $x=b$, then

$$
\int_{a}^{b} g(x) \frac{d^{\alpha} f(x)}{d x^{\alpha-1}}=g(b) f_{-}^{(\alpha-1)}(b)-g(a) f_{+}^{(\alpha-1)}(a)-\int_{a}^{b} g^{\prime}(x) \frac{d^{\alpha-1} f(x)}{d x^{\alpha-2}}
$$

Proof. Immediate.
Lemma 3. If $f(x)$ is everywhere differentiable $(\alpha-1)$ times, and $f^{(\alpha-1)}(x)$ is absolutely continuous in $(a, b)$, then

$$
\int_{a}^{b} g(x) \frac{d^{\alpha} f(x)}{d x^{\alpha-1}}=\int_{a}^{b} g(x) f^{(\alpha)}(x) d x
$$

Proof. This is proved by the repeated use of integration by parts.
Lemma 4. Let $\left\{f_{n}(x)\right\}$ be a uniformly bounded sequence of continuous functions, such that

$$
\lim _{n \rightarrow \infty} f_{n}(x)=f(x)
$$

uniformly in ( $a, b$ ) and further

$$
\begin{aligned}
& \lim _{n \rightarrow \infty} \lim _{\epsilon \rightarrow 0} g^{(r)}\{a+(k-r-1) \varepsilon\} \Delta_{\epsilon}^{k-r-1} I^{h} f_{n}(a) / \varepsilon^{k-r-1} \\
&=\lim _{\epsilon \rightarrow 0} g^{(r)}\{a+(k-r-1) \varepsilon\} \Delta_{\epsilon}^{k-r-1} I^{h} f(a) / \varepsilon^{k-r-1}, \\
& \lim _{n \rightarrow \infty} \lim _{\varepsilon \rightarrow 0} g^{(r)}\{b-(k-r-1) \varepsilon\}_{\epsilon}^{k i-r-1} I^{l} f_{n}(b) / \varepsilon^{k-r-1}
\end{aligned}
$$

$$
\begin{aligned}
=\lim _{\epsilon \rightarrow 0} g^{(r)}\{b-(k-r-1) \varepsilon\} \Delta_{\epsilon}^{*} \Delta^{k-r-1} & I^{h} f(b) / \varepsilon^{k-r-1} \\
& (r=0,1,2, \ldots, k-2),
\end{aligned}
$$

then we have $\quad \lim _{n \rightarrow \infty} \int_{a}^{b} g(x) \frac{d^{\alpha} f_{n}(x)}{d x^{\alpha-1}}=\int_{a}^{b} g(x) \frac{d^{\alpha} f(x)}{d x^{\alpha-1}}$.
Proof. This is proved by the definition of the integral and Lebesgue's convergence theorem. (See Izumi [6]).
3. Main theorem and its proof.

Theorem 1. If $f(x) /\left(1+|x|^{\alpha}\right)$ is absolutely integrable in $(-\infty,+\infty)$ for $\alpha>1$, then

$$
f(x)=\frac{1}{\pi}(B, \alpha-1) \int_{-0}^{\infty}\left\{\cos v x \frac{d^{\alpha} \Phi_{\alpha}(v)}{d v^{\alpha-1}}+\sin v x \frac{d^{\alpha} \Psi^{\alpha}(v)}{d v^{\alpha-1}}\right\}
$$

for almost all $x$, where $(B, \alpha-1) \int_{-0}^{\infty}(\quad)$ means

$$
\lim _{\lambda \rightarrow \infty} \lim _{\delta \rightarrow 0} \int_{-\delta}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1}(\quad) ;
$$

and if $k$ is an integer such that

$$
k-1<\alpha \leqq k, \quad h=k-\alpha,
$$

and if $k$ is even, that is $k=2 m$,

$$
\begin{aligned}
& \Phi_{a}(v)=\int_{-1}^{1} f(y) \frac{C_{\alpha}(v y)}{y^{\alpha}} d y+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{(-1)^{m} C_{2-k}(v y)}{y^{\alpha}} d y \\
& \Psi_{\alpha}(v)=\int_{-1}^{1} f(y) \frac{C_{\alpha+1}(v y)}{y^{\alpha}} d y+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{(-1)^{m} C_{1-l}(v y)}{y} d y
\end{aligned}
$$

$$
(v \geqq 0)
$$

and

$$
\Phi_{\alpha}(v)=\Psi_{\alpha}(v)=0, \quad(v<0)
$$

if $k$ is odd, that is $k=2 m+1$,

$$
\begin{aligned}
& \Phi_{\alpha}(v)=\int_{-1}^{1} f(y) \frac{C_{\alpha+1}(v v)}{y^{\alpha}} d y+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{(-1)^{m} C_{1-k}(v y)}{y^{\alpha}} d y \\
& \Psi_{\alpha}(v)=\int_{-1}^{1} f(y) \frac{C_{\alpha}(v y)}{y^{\alpha}} d y+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) f(y) \frac{(-1)^{n} C_{2-h}(v y)}{y^{\alpha}} d y
\end{aligned}
$$

$$
(v \geqq 0)
$$

and

$$
\Phi_{\alpha}(v)=\Psi_{\alpha}(v)=0 \quad(v<0)
$$

$\boldsymbol{C}_{\alpha}(u)$ being Young's function.
Proof. We shall prove for $k=2 m$. The case $k=2 m+1$ is treated similarly. The following properties of Young's function are well known. They are

$$
\begin{gathered}
\left(\int_{0}^{v}\right)^{\alpha} \cos u y d u \left\lvert\,=\frac{C_{\alpha}(v y)}{i y^{\alpha}}\right. \\
\frac{d^{\alpha}}{d v^{\alpha}}\left\{(-1)^{m} \frac{C_{y-n}(v y)}{y^{\alpha}}\right\}=\cos v y
\end{gathered}
$$

and

$$
\frac{d^{\alpha}}{d v^{\alpha}}\left\{(-1)^{m} \frac{C_{1-n}(v y)}{y^{\alpha}}\right\}=-\sin \cdot v y .
$$

From Lemma 1,

$$
f(x)=\lim _{\lambda \rightarrow \infty} \frac{1}{\pi} \int_{-\infty}^{\infty} f(y) d y \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v(y-x) d v=\lim _{\lambda \rightarrow \infty} I_{\lambda}(x)
$$

say. Then

$$
\begin{aligned}
I_{\lambda}(x)= & \lim _{n \rightarrow \infty} \frac{1}{\pi} \int_{-n}^{n} f(y) d y \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v(y-x) d v \\
= & \lim _{n \rightarrow \infty} \frac{1}{\pi}\left[\int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v x d v \int_{-n}^{n} f(y) \cos v y d y\right. \\
& \left.+\int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \sin v x d v \int_{-n}^{n} f(y) \sin v y d y\right]
\end{aligned}
$$

If we put

$$
\begin{aligned}
& \Phi_{\alpha, n}(v)=\int_{-1}^{1} f(y) \frac{C_{\alpha}(v y)}{y^{\alpha}} d y+\left(\int_{-n}^{-1}+\int_{1}^{n}\right) f(y)(-1)^{m} \frac{C_{2-l}(v y)}{y^{\alpha}} d y,(v \geqq 0) \\
&=0 \\
&(v<0) ;
\end{aligned}
$$

and

$$
\begin{aligned}
& \Psi_{\alpha, n}(v)=\int_{-1}^{1} f(y) \frac{C_{a+1}(v v)}{y^{\alpha}} d y-\left(\int_{-n}^{-1}+\int_{1}^{n}\right) f(y) \frac{(-1)^{m} C_{1-n}(v y)}{y^{\alpha}} d y,(v \geqq 0) \\
&=0 \\
&(v<0),
\end{aligned}
$$

then, from Lemma 3 and by the properties of Young's function, we have

$$
I_{\lambda}(x)=\frac{1}{\pi} \lim _{n \rightarrow \infty}\left[\left\{\int_{-\delta}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v x \frac{d^{\alpha} \Phi_{\alpha, n}(v)}{d v^{\alpha-1}}\right.\right.
$$

$$
\left.+\int_{-\delta}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \sin v x \frac{d^{\alpha} \Phi_{\alpha, n}(v)}{d v^{\alpha-1}}\right]
$$

where $\delta>0$.
On the other hand, since

$$
\frac{C^{\alpha}(v y)}{y^{\alpha}}=O(1), \quad \text { for }|y| \leqq 1
$$

and

$$
\frac{C_{2-l}(v y)}{y^{\alpha}}=O\left(y^{-\alpha}\right), \frac{C_{1-h}(v y)}{y^{\alpha}}=O\left(y^{-\alpha}\right) \text { for }|y|>1,
$$

$\Phi_{a, n}(v)$ and $\Psi_{a, n}(v)$ are uniformly bounded in any finite interval of $v$, and tend uniformly to $\Phi(v)$ and $\Psi(v)$ in that interval.

In order to verify the condition of remainder terms, for $r=0$ we put

$$
\begin{aligned}
\Gamma_{\lambda, \Phi}^{(0)}(\varepsilon, n) & =\left[1-\left\{\frac{\lambda-(k-1) \varepsilon}{\lambda}\right\}^{2}\right]^{\alpha-1} \cos \{\lambda-(k-1) \varepsilon\} x \frac{\Delta_{e}^{k-1} I^{n} \Phi_{a, n}(\lambda)}{\varepsilon^{k-1}} \\
& =\left[1-\left\{\frac{\lambda-(k-1) \varepsilon}{\lambda}\right\}^{2}\right]^{\alpha-1} \frac{\cos \{\lambda-(k-1) \varepsilon\} x}{\varepsilon^{k-1}}\left\{\int_{-1}^{1} f(x) \frac{C_{\alpha}(\lambda y)}{y^{\alpha}} d y\right. \\
& \left.+\left(\int_{-n}^{-1}+\int_{1}^{n}\right) f(y) \frac{(-1)^{m} C_{2-l}(\lambda y)}{y^{\alpha}} d y\right\}=J_{1}+J_{2} .
\end{aligned}
$$

$$
J_{1} \equiv\left[1-\left\{\frac{\lambda-(k-1) \varepsilon}{\lambda}\right\}^{2}\right]^{\alpha-1} \frac{\cos \{\lambda-(k-1) \varepsilon\} x}{\varepsilon^{k-1}} \sum_{j=0}^{k-1}(-1)^{\prime}\binom{k-1}{j}
$$

$$
\times \frac{1}{\Gamma(h)} \int_{0}^{\lambda-j e}\{(\lambda-j \varepsilon)-u\}^{h-1} d u \int_{-1}^{1} f(y) \frac{C_{a}(u y)}{y^{\alpha}} d y
$$

$$
=O\left(\varepsilon^{-h}\right)\left[\sum_{j=0}^{k-1}(-1)^{\prime}\binom{k-1}{j} \int_{-1}^{1} f(y) d y \frac{1}{\Gamma(h)} \int_{0}^{1}(1-u)^{h-1}(\lambda-j \varepsilon)^{h} \frac{C_{\alpha}\{(\lambda-j \varepsilon) u y\}}{y^{\alpha}} d u\right]
$$

$$
=O\left(\varepsilon^{1-h}\right)\left\{\sum_{j=0}^{k-2}(-1)^{\prime}\binom{k-2}{j} \int_{-1}^{1-} f(y) d y \frac{1}{\Gamma(h)} \int_{0}^{1}(1-u)^{h-1}\left[\frac{d}{d \lambda} \frac{\lambda^{h} C_{\alpha}(\lambda u y)}{y^{\alpha}}\right]_{\lambda=\lambda^{\prime}-j_{\epsilon}} d u\right\}
$$

$$
\left(\lambda-\varepsilon<\lambda^{\prime}<\lambda\right) .
$$

$=O\left(\varepsilon^{1-h}\right)$.
Similarly

$$
\begin{array}{r}
J_{2}=O(\varepsilon-h)\left(\int_{-n}^{-1}+\int_{1}^{n}\right) \frac{f(y)}{y^{\alpha}} d y \sum_{j=0}^{k-1}(-1)^{( }\binom{k-1}{j} \frac{1}{\Gamma(h)} \int_{0}^{1}(1-u)^{h-1}(\lambda-j \varepsilon)^{h} \\
\times C_{2-h}\{(\lambda-j \varepsilon) u y\} d u
\end{array}
$$

$$
\begin{gathered}
=O\left(\varepsilon^{-h}\right)\left[\int_{-n}^{-1}+\int_{1}^{n}\right] \frac{f(y)}{y^{a}} d y \sum_{j=0}^{k-2}(-1)^{y}\binom{k-2}{j} \frac{1}{\Gamma(h)} \\
\times \int_{0}^{1}(1-u)^{n-1}\left[\{\lambda-(j+1) \varepsilon\}^{n} C_{2-h}(\{\lambda-(j+1) \varepsilon\} u y)-(\lambda-j \varepsilon)^{h}\right. \\
\left.\times C_{2-h}\{(\lambda-j \varepsilon) u y\}\right] d u \\
=\left[\sum_{j=0}^{k-2}(-1)^{j}\binom{k-2}{j} O\left(\varepsilon^{-h}\right)\left\{\int_{-n}^{-1}+\int_{1}^{n}\right\} \frac{f(y)}{y^{\alpha}}\right. \\
\times \frac{\cos [\{\lambda-(j+1) \varepsilon\} y]-\cos \{(\lambda-j \varepsilon) y\}}{y^{h}} d y \\
=\sum_{j=0}^{k-1}(-1)^{j+1}\binom{k-2}{j} K_{j},
\end{gathered}
$$

say.

$$
\begin{aligned}
& K_{0}=O\left(\varepsilon^{-h}\right)\left\{\int_{-n}^{-1}+\int_{1}^{n}\right\} \frac{f(y)}{y^{\alpha}} \frac{\cos \lambda y-\cos \{(\lambda-\varepsilon) y\}}{y^{h}} d y=\mathcal{L}_{n}+M_{n} \\
& \begin{aligned}
\lim _{n \rightarrow \infty} M_{n} & =O\left(\varepsilon^{-h}\right) \int_{1}^{\infty} \frac{f(y)}{y^{\alpha}} \frac{\cos \lambda y-\cos \{(\lambda-\varepsilon) y\}}{y^{h}} d y \\
& =O\left(\varepsilon^{-h}\right)\left(\int_{1}^{n_{0}}+\int_{n_{0}}^{1 / \epsilon}+\int_{1 / \epsilon}^{\infty}\right) \frac{f(y)}{y^{\alpha}} \frac{\cos \lambda y-\cos \{(\lambda-\varepsilon) y\}}{y^{h}} d y \\
& =N_{1}+N_{2}+N_{3},
\end{aligned}
\end{aligned}
$$

say, where $n_{0}$ is determined for given $\eta>0$ such that

$$
\int_{n_{0}}^{\infty} \frac{|f(y)|}{y^{x}} d y<\eta, \quad \text { for all } n \geqq n_{v}
$$

Then

$$
\begin{aligned}
\left|I_{1}\right| & =O\left(\varepsilon^{1-h}\right)\left|\int_{1}^{n_{0}} \frac{f(y)}{y^{a}} y \frac{\left[\sin \lambda^{\prime} y\right]}{y^{h}} d y\right| \\
& =O\left(\varepsilon^{1-h}\right) \int_{1}^{n_{0}} \frac{|f(y)|}{y^{i-1}} d y=O\left(\varepsilon^{1-h}\right),
\end{aligned}
$$

where $\lambda-\varepsilon<\lambda^{\prime}<\lambda$.

$$
\begin{aligned}
\begin{aligned}
&\left|I_{2}\right|=O\left(\varepsilon^{-h}\right)\left|\int_{n_{0}}^{\frac{1}{\epsilon}} \frac{f(y)}{y^{\alpha}} \frac{\varepsilon y\left[\sin \lambda^{\prime \prime} y\right]}{y^{n}} d y\right| \\
&=O\left(\varepsilon^{1-h}\right) \int_{n_{0}}^{1 / \epsilon} \frac{|f(y)|}{y^{\alpha}} y^{1-h} d y \\
&=O\left(\varepsilon^{1-h} \varepsilon^{h-1}\right) \int_{n_{0}}^{1 / \epsilon} \frac{\mid f(y)) \mid}{y^{\alpha}} d y \\
&=O(\eta)
\end{aligned} \\
\left|I_{3}\right|=O\left(\varepsilon^{-h}\right) \int_{1 / e}^{\infty} \frac{|f(y)|}{y^{\alpha}} \frac{2}{y^{h}} d y \leqq O\left(\varepsilon^{-h} \varepsilon^{h}\right) \int_{1 / e}^{\infty} \frac{|f(y)|}{y^{\alpha}} d y \\
=O(1) \int_{1 / \varepsilon}^{\infty} \frac{|f(y)|}{y^{\alpha}} d y .
\end{aligned}
$$

Thus we get

$$
\left|\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} M_{n}\right|=\lim _{\epsilon \rightarrow 0}\left\{O\left(\varepsilon^{1-h}\right)+O(\eta)+O(1) \int_{1 / \epsilon}^{\infty} \frac{|f(y)|}{y^{\infty}} d y\right\}=O(\eta) .
$$

Since $\eta$ is any small number, we have

$$
\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} M_{n}=0
$$

Consequently the required formula

$$
\lim _{n \rightarrow \infty} \lim _{\varepsilon \rightarrow 0} \Gamma_{\lambda, \Phi}^{(0)}(\varepsilon, n)=\lim _{\varepsilon \rightarrow 0} \lim _{n \rightarrow \infty} \Gamma_{\lambda, \Phi}^{(0)}(\varepsilon, n)=0
$$

is derived easily. Similarly we obtain

$$
\lim _{n \rightarrow \infty} \lim _{\epsilon \rightarrow 0} \Gamma_{\lambda, \Psi}^{(0)}(\varepsilon, n)=\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} \Gamma_{\lambda, \Psi}^{(0)}(\varepsilon, n)=0 .
$$

We can treat the case $r=1,2,3, \ldots, k-2$ analogously and then we get the theorem from Lemma 1 and Lemma 3.
4. Burkill's generalization of Fourier integral.

Lemma 5. Suppose that, $\left(1^{\circ}\right) F(0)=0,\left(2^{\circ}\right) F(x)$ is continuous in any finite interval, ( $\left.3^{\circ}\right) F(x)=o\left(|x|^{\alpha}\right)$ as $|x| \rightarrow \infty$ and ( $\left.4^{\circ}\right) F(x) /\left(1+|x|^{\alpha}\right) \in L(-\infty$, $\infty)$, for $\alpha>1$, then we have

$$
\lim _{\lambda \rightarrow \infty} \frac{1}{\pi} \int_{-\infty}^{\infty} \cdot d F(y) \int_{0}^{x} K_{\mu}\{\lambda(y-u)\} d u=F(x),
$$

where

$$
K_{\mu}(\lambda x)=\frac{2 C(\mu)}{\lambda} \alpha_{\mu}(\lambda x), \quad \mu+\frac{1}{2}=\alpha
$$

Proof. We have

$$
\begin{aligned}
& \begin{aligned}
& \frac{1}{\pi} \int_{-\infty}^{\infty} d F(y) \int_{0}^{x} K_{\mu}\{\lambda(y-u)\} d u=\lim _{n \rightarrow \infty} \frac{1}{\pi} \int_{-n}^{n} d F(y) \int_{0}^{x} K_{\mu}\{\lambda(y-u)\} d u \\
&=\lim _{n \rightarrow \infty} I_{n}(x), \text { say. } \\
& \begin{aligned}
I_{n}(x)= & {\left[\frac{1}{\pi} F(y) \int_{0}^{x} K_{\mu}\{\lambda(y-u)\} d u\right]_{-n}^{n}-\frac{1}{\pi} \int_{-n}^{n} F(y)\left\{\frac{d}{d y} \int_{0}^{x} K_{\mu}\{\lambda(y-u)\} d u\right\} d y } \\
= & \frac{F(n)}{\pi} \int_{0}^{x} K_{\mu}\{\lambda(n-u)\} d u-\frac{F(-n)}{\pi} \int_{0}^{x} K_{\mu}\{\lambda(n-u)\} d u
\end{aligned} \\
& \quad+\frac{1}{\pi} \int_{-n}^{n} F(y)\left\{\frac{d}{d y} \int_{\lambda y}^{\lambda(y-x)} \frac{K^{\mu}(v) d v}{\lambda}\right\} d y \\
&= \frac{F(n)}{\pi} \int_{0}^{x} K_{\mu}\{\lambda(n-u)\} d u-\frac{F(-n)}{\pi} \int_{0}^{x} K_{\mu}\{\lambda(n-u)\} d u
\end{aligned} \\
& \quad+\frac{1}{\pi} \int_{-n}^{n} F(y)\left[K_{\mu}\{\lambda(y-x)\}-K_{\mu}(\lambda y)\right] d y
\end{aligned}
$$

Then

$$
\begin{gathered}
J_{1}=\frac{1}{\pi} F(n) \cdot O\left(\int_{0}^{x} \lambda^{-\mu+\frac{1}{2}}(n-u)^{-\mu-\frac{1}{2}} d u\right) \\
=O\left(F(n) / \lambda^{\mu-\frac{1}{2}} n^{\mu+\frac{1}{2}}\right)=O\left(F(u) / \lambda^{\alpha-1} n^{\alpha}\right)^{\cdot} \\
=o(1), \text { as } n \rightarrow \infty,
\end{gathered}
$$

and $J_{2}=o(1)$ is proved similarly. Concerning $J_{3}$, we get from Lemma 1,

$$
\lim _{\lambda \rightarrow \infty} \lim _{n \rightarrow \infty} J_{3}=F(x)-F(0)=F(x)
$$

for $F(0)=0$.
Theorem 2. Suppose that $\left(1^{\circ}\right) F(0)=0,\left(2^{\circ}\right) F(x)$ be continuous in any finite interval of $(-\infty, \infty),\left(3^{\circ}\right) F(x)=o\left(|x|^{\alpha}\right)$ as $|x| \rightarrow \infty$ for $\alpha>1$ and ( $4^{\circ}$ ) $F(x) /\left(1+|x|^{\alpha}\right)$ be absolutely integrable in $(-\infty,+\infty)$. Let $k$ be an integer such as $k-1<\alpha \leqq k, k-\alpha=h$. If $k-2=2 m(m=0,1,2 \ldots)$, we put

$$
\begin{aligned}
& \phi_{\alpha}(v)=\int_{-1}^{1} \frac{C_{\alpha}(v y)}{y^{\alpha}} d F(y)+\left(\int_{-\infty}^{-1}+\int_{1}^{\alpha}\right) \frac{(-1)^{m} C_{2-h}(v y)}{y^{\alpha}} d F(y) \\
& \psi_{\alpha}(v)=\int_{-1}^{1} \frac{C_{\alpha+1}(v y)}{y^{\alpha}} d F(y)+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) \frac{(-1)^{m} C_{1-h}(v y)}{y^{\alpha}} d F(y),
\end{aligned}
$$

and if $k-2=2 m+1(m=0,1,2, \ldots$.$) , we put$

$$
\begin{aligned}
& \varphi_{\alpha}(v)=\int_{-1}^{1} \frac{C_{\alpha+1}(v y)}{y^{\alpha}} d F(y)-\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) \frac{(-1)^{n} C_{1-h}(v y)}{y^{\alpha}} d F(y), \\
& \psi_{\alpha}(v)=\int_{-1}^{1} \frac{C_{\alpha}(v y)}{y^{\alpha}} d F(y)+\left(\int_{-\infty}^{-1}+\int_{1}^{\infty}\right) \frac{(-1)^{m} C_{2-h}(v y)}{y^{\alpha}} d F(y) .
\end{aligned}
$$

Then

$$
F(x)=\frac{1}{\pi}(B, \alpha) \int_{0}^{x}\left\{\frac{\sin v x}{v} \frac{d^{x} \varphi_{a}(v)}{d v^{\alpha-1}}+\frac{1-\cos v x}{v} \frac{d \psi_{\alpha}(v)}{d v^{\alpha-1}}\right\}
$$

Proof. From Lemma 5,

$$
\begin{aligned}
I_{n} & =\frac{1}{\pi} \int_{-n}^{n} d F(y) \int_{0}^{x} K_{\alpha-\frac{1}{2}}\{\lambda(y-u)\} d u \\
& =\frac{1}{\pi} \int_{-n}^{n} d F(y) \int_{0}^{x} d u \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \cos v(y-u) d v \\
& =\frac{1}{\pi}\left[\int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \frac{\sin v x}{\mid v} d v \int_{-n}^{n} \cos v y d F(y)\right. \\
& \left.+\int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\alpha-1} \frac{1-\cos v x}{v} d v \int_{-n}^{n} \sin v y d F(y)\right] .
\end{aligned}
$$

The proof is almost identical with that of Theorem 1, But the lower limit of integral is not -0 , but it is exactly 0 . This is an essentially different point. To clarify this circumstance, we prove the case $k=2$ for the sake of simplicity.

Let us put

$$
\begin{aligned}
& \phi_{2, n}(v)=\int_{-n}^{n} 1-\frac{\cos v y}{y^{2}} d F(y), \\
& \psi_{2, n}(v)=\int_{-1}^{+1} \frac{v y-\sin v y}{y^{2}} d F(y)-\left(\int_{-n}^{-1}+\int_{1}^{n}\right) \frac{\sin v y}{y^{2}} d F(y) .
\end{aligned}
$$

Then integrating by parts, we get

$$
\begin{aligned}
I_{n}= & \int_{0}^{\lambda}\left(1-\frac{v}{\lambda}\right) \frac{\sin v x}{v} \frac{d^{2} \varphi_{2, n}(v)}{d v} \\
& +\int_{0}^{\lambda}\left(1-\frac{v}{\lambda}\right) \frac{1-\cos v x}{v} \frac{d^{2} \psi_{2, n}(v)}{d v}
\end{aligned}
$$

We shall show that

$$
\begin{aligned}
& \lim _{n \rightarrow \infty} \lim _{\epsilon \rightarrow 0} \Gamma_{\varphi}(\varepsilon, n)=\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} \Gamma_{\varphi}(\varepsilon, n), \\
& \lim _{n \rightarrow \infty} \lim _{\epsilon \rightarrow 0} \Gamma_{\psi}(\varepsilon, n)=\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} \Gamma_{\psi}(\varepsilon, n),
\end{aligned}
$$

where

$$
\begin{aligned}
& \Gamma_{\varphi}(\varepsilon, n)=\left(1-\frac{\varepsilon}{\lambda}\right) \frac{\sin \varepsilon x}{\varepsilon^{2}} \int_{-n}^{n} \frac{1-\cos \varepsilon y}{y^{2}} d F(y), \\
& \Gamma_{\psi}(\varepsilon, n)=\left(1-\frac{\varepsilon}{\lambda}\right) \frac{1-\cos \varepsilon x}{\varepsilon^{2}}\left\{\int_{-1}^{1} \frac{\varepsilon y-\sin \varepsilon y}{y^{2}} d F(y)\right. \\
& \left.\quad-\left(\int_{-n}^{-1}+\int_{1}^{n}\right) \frac{\sin \varepsilon v}{y^{2}} d F(y)\right\} .
\end{aligned}
$$

Now

$$
\begin{aligned}
\Gamma_{\varphi}(\varepsilon, n) & =\left(1-\frac{\varepsilon}{\lambda}\right) x \frac{\sin \varepsilon x}{\varepsilon x}\left\{\left[\frac{1-\cos \varepsilon y}{\varepsilon y^{2}} F(y)\right]_{-n}^{n}\right. \\
& =J_{1}-J_{2}, \text { say. } \\
\lim _{\epsilon \rightarrow 0} J_{1}= & \lim _{\epsilon \rightarrow 0}\left(1-\frac{1}{\varepsilon}\left(\frac{1-\cos \varepsilon y}{y^{2}}\right) x \cdot \frac{\sin \varepsilon x}{\varepsilon x} \cdot \varepsilon\left[\frac{1-\cos \varepsilon y}{\varepsilon^{2} y^{2}} F(y) d y\right\}\right. \\
\lim _{\epsilon \rightarrow 0} J_{2} & =\left(1-\frac{\varepsilon}{\lambda}\right) x \frac{\sin \varepsilon x}{\varepsilon x} \frac{1}{\varepsilon} \int_{-n}^{n}\left\{\frac{\left(y^{2} \varepsilon \sin \varepsilon y-2 y(1-\cos \varepsilon y)\right.}{y^{4}}\right\} F(y) d y \\
& =0 .
\end{aligned}
$$

On the other hand,

$$
\left|J_{1}\right|=O\left(\frac{|F(n)|+|F(-n)|}{n^{2}}\right)=o(1), \text { as } n \rightarrow \infty
$$

For a given $\eta>0$, we take a large $N$ for a fixed $\varepsilon$ such that

$$
\left(\int_{-\infty}^{-N}+\int_{N}^{\infty}\right)\left|\frac{1}{\varepsilon}\left(\frac{1-\cos \varepsilon y}{y^{2}}\right)^{\prime} F(y)\right| d y<\eta,
$$

and

$$
\lim _{\epsilon \rightarrow 0} \int_{-N}^{N}\left|\frac{1}{\varepsilon} \frac{y^{2}-\sin \varepsilon y-2 y(1-\cos \varepsilon y)}{y^{4}} F(y)\right| d y=0
$$

Therefore
that is,

$$
\varlimsup_{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty}\left|J_{2}\right|<\eta
$$

$$
\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} J_{2}=0 .
$$

Tḥus we get

$$
\lim _{n \rightarrow \infty} \lim _{\epsilon \rightarrow 0} \Gamma_{\varphi}(n, \varepsilon)=\lim _{\epsilon \rightarrow 0} \lim _{n \rightarrow \infty} \Gamma_{\varphi}(n, \varepsilon) .
$$

The remaining part is analogous. Burkill [1] proved the case $\alpha=1$, and the summability is replaced by ordinary convergence. S.Izumi [6] proved the case $\alpha=2$, but he has put - 0 at the lower limit of integral.
§5. The $L_{p}(p>1)$ case.
Lemma 6. Let

$$
\int_{-\infty}^{\infty} \frac{|f(x)|^{p}}{1+|x|^{\alpha+1}} d x<\infty \text { for } p>1 \text { and } \alpha>0
$$

If

$$
\left(1^{\circ}\right) \quad \int_{-\infty}^{\infty} K(x) d x=1
$$

(2) $\quad|K(x)| \leqq M$ for $|x| \leqq 1$,
and
(3 $\left.{ }^{\circ}\right) \quad\left|x^{1+\beta} K(x)\right| \leqq M$ as $|x| \rightarrow \infty$, for $\beta>\frac{\alpha}{p}$,
then

$$
\lim _{\lambda \rightarrow \infty} \lambda \int_{-\infty}^{\infty} f(y) K\{\lambda(y-x)\} d y=f(x) \text {, a.e. }
$$

Proof. We may assume without loss of generality that $x=0$ is the Lebesgue point of $f(x)$ and $f(0)=0$. Therefore it is sufficient to prove

$$
\lim _{\lambda \rightarrow \infty} \lambda \int_{0}^{\infty} f(y) K(\lambda y) d y=0 .
$$

Let us put

$$
I=\lambda \int_{0}^{\infty} f(x) K(\lambda x) d x=\int_{0}^{1 / \lambda}+\int_{1 / \lambda}^{\eta}+\int_{\eta}^{\infty}=I_{1}+I_{2}+I_{3},
$$

say. Since $x=0$ is the Lebesgue point,

$$
I_{1}=O\left(\lambda \int_{0}^{1 / \lambda}|f(x)| d x\right)=o(1), \text { as } \lambda \rightarrow \infty
$$

If we write

$$
\int_{0}^{t}|f(x)| d x=F(t)
$$

then $|F(t) / t|<\varepsilon$, for all $t$ such as $0<t \leqq \eta$. Therefore

$$
\begin{aligned}
& \left|I_{2}\right| \leqq \lambda \int_{1 / \lambda}^{\eta}|f(x)||K(\lambda x)| d x \leqq M \lambda^{-\beta} \int_{1 / \lambda}^{\eta}|f(x)| \frac{d \lambda}{x^{\beta+1}} \\
& =M \lambda^{-\beta}\left[\frac{F(x)}{x^{\beta+1}}\right]_{1 / \lambda}^{\eta}+M \lambda^{-\beta}(\beta+1) \int_{1 / \lambda}^{\eta} \frac{F(t)}{t^{\beta+2}} d t \\
& =I_{4}+I_{5}
\end{aligned}
$$

Then

$$
\begin{aligned}
\left|I_{4}\right| & =\left|\lambda^{-\beta} \frac{F(\eta)}{\eta^{\beta+1}}\right|+\left|\lambda^{-\beta} \frac{F(1 / \lambda)}{(1 / \lambda)^{\beta+1}}\right| \\
& \leqq\left|\frac{F(\eta)}{\eta}\right|+\left|\frac{F(1 / \lambda)}{1 / \lambda}\right| \leqq 2 \varepsilon \\
\left|I_{5}\right| & \leqq(\beta+1) \lambda^{-\beta} \int_{1 / \lambda}^{\eta} \frac{\varepsilon}{t^{\beta+1}} \leqq 4 \varepsilon
\end{aligned}
$$

On the other hand, putting $1 / p+1 / q=1$, we have

$$
\begin{aligned}
& \int_{\eta}^{\infty}\left|x^{(q-1)(\alpha+1)} K^{(p)}(x)\right| d x \leqq M \int_{\eta}^{\infty}|x|^{(q-1)(\alpha-1)-(\beta+1) q} d x \\
& \quad \leqq M \int_{\eta}^{\infty} x^{-(1+\delta)} d x<\infty
\end{aligned}
$$

where $\delta=\beta-\alpha / p>0$. Therefore

$$
\begin{aligned}
\left|I_{3}\right| & \leqq\left(\int_{\eta}^{\infty} \frac{|f(x)|^{p}}{|x|^{\alpha+1}} d x\right)^{1 / p}\left(\int_{\lambda \eta}^{\infty} \lambda^{q-\frac{q(\alpha+1)}{p}-1} u^{\frac{q(\alpha+1)}{\nu}}|K(u)|^{q} d u\right)^{1 / q} \\
& \leqq\left(\int_{\eta}^{\infty} \frac{|f(x)|^{p}}{|x|^{\alpha+1}} d x\right)^{1 / p}\left(\int_{\lambda \eta}^{\infty} u^{(q-1)(\alpha+1)}|K(u)|^{q} d u\right)^{1 / q} \\
& \rightarrow 0, \text { as } \lambda \rightarrow \infty .
\end{aligned}
$$

Thus we get the lemma.
Lemma 7. Let

$$
\int_{-\infty}^{\infty} \frac{|f(x)|^{p}}{1+|x|^{\alpha}} d x<\infty \text { for } p>1 \text { and } \alpha>1
$$

then

$$
\lim _{\lambda \rightarrow \infty} \frac{1}{\pi} \int_{-\infty}^{\infty} f(y) d y \int_{0}^{\lambda}\left\{1-\left(\frac{v}{\lambda}\right)^{2}\right\}^{\frac{\alpha-1}{p}+\delta} \cos v(y-x) d v=f(x) \text {, a.e. }
$$

Proof. Substituting

$$
k_{\beta} \alpha_{\alpha+\frac{1}{2}}(x), \text { where, } k_{\beta}=\frac{\Gamma(\beta+1)}{2 \sqrt{\pi} \Gamma\left(\beta+\frac{3}{2}\right)}, \beta=\frac{\alpha-1}{p}+\delta
$$

in the place of $K(x)$ in Lemma 6, we can prove the lemma similarly as Lemma 1.

Lemma 8. The inverse difference

$$
S_{k}^{-\mu}(\cos \lambda x)=\sum_{\nu=0}^{k} A_{k-\nu}^{-\mu-1} \cos \{\lambda-(n-\nu) \varepsilon\} x
$$

satisfies

$$
\begin{align*}
& S_{k}^{-\mu}\left\{\mathrm{S}_{k}^{-\nu}(\cos \lambda x)\right\}=\underset{\epsilon}{\Delta_{*}^{k}} \cos \lambda x, \quad k=\mu+\nu,  \tag{1}\\
& S^{-\mu}(\cos \lambda x)=O\left(\varepsilon^{\mu} x^{\mu}\right) \text { as } \varepsilon \rightarrow 0 .
\end{align*}
$$

(2)

Proof. Immediate.
Theorem 3. Let

$$
\int_{-\infty}^{\infty} \frac{|f(x)|^{p}}{1+|x|^{\alpha}} d x<\infty, \text { for } p>1, \alpha>1
$$

then

$$
f(x)=\{(B,(\alpha-1) / p+1+\delta)\} \frac{1}{\pi} \int_{-0}^{\infty}\left\{\cos v x \frac{d^{\alpha} \Phi^{\alpha}(v)}{d v^{\alpha-1}}+\sin v x \frac{d^{\alpha} \Psi^{\alpha}(v)}{d v^{\alpha-1}}\right\}
$$

a.e., where $\Phi_{\alpha}(v)$ and $\Psi_{\alpha}(v)$ are defined in Theorem 1.

Proof. The method of proof is almost identical with that of Theorem 1. The existence of $\Phi_{a}(v)$ and $\Psi_{\alpha}(v)$ is proved by Hölder's inequality. The essentially different point lies in proving the condition of the end points. For instance we shall prove

$$
\Gamma_{\lambda}^{(0)}(\varepsilon, n)=O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta}\right) \int_{1}^{\infty} \frac{f(y)}{y^{\alpha}} \frac{{\underset{e}{e}}_{(k-1)}^{e_{e}^{(k)} \cos \lambda y}}{\varepsilon^{k-1} y^{n}} d y=o(1) \text { as } \varepsilon \rightarrow 0 .
$$

Let us put

$$
\begin{aligned}
\Gamma_{\lambda}^{(0)}(\varepsilon, n) & =O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta}\right)\left(\int_{1}^{N}+\int_{N}^{1 / \epsilon}+\int_{1 / \epsilon}^{\infty}\right) \frac{f(y)}{y^{\alpha}} \frac{{\underset{\varepsilon}{*}}_{\Delta^{(k-1)}} \cos \lambda y}{\varepsilon^{k-1} y^{h}} d y \\
& =J_{1}+J_{2}+J_{3}
\end{aligned}
$$

say, where we select $N$ such that

$$
\left(\int_{N}^{\infty} \frac{|f(x)|^{p}}{x^{\alpha}} d x\right)^{1 / p}<\eta
$$

for arbitrarily small given $\eta>0$. Then

$$
\left|J_{1}\right|=O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta}\right)\left(\int_{1}^{N} \frac{|f(y)|}{|y|^{\alpha+h}} d y\right)=o(1), \text { as } \varepsilon \rightarrow 0
$$

Using Hölder's inequality

$$
\begin{aligned}
\left|J_{3}\right| & =O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta-k+1}\right)\left(\int_{1 / \epsilon}^{\infty} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p}\left(\left.\int_{1 / \epsilon}^{\infty} \frac{1}{y^{\alpha}}\right|_{\left.\left.\frac{\Delta^{(k-1)} \cos \lambda y}{y^{h}}\right|^{q} d y\right)^{1 / q}}\right. \\
& =O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta-k+1+\frac{\alpha-1}{q}+h-\delta}\right)\left(\int_{1 / \epsilon}^{\infty} \frac{d y}{y^{1+\alpha \delta}}\right)^{1 / q}\left(\int_{1 / \epsilon}^{\infty} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p}
\end{aligned}
$$

and as

$$
(\alpha-1 / p)+\delta-k+1+(\alpha-1 / q)+h-\delta=0, \text { and } 1+q \delta>1
$$

we obtain

$$
\left|J_{3}\right|=O\left(\int_{1 / \epsilon}^{\infty} \frac{d y}{y^{1+q \delta}}\right)^{1 / q}\left(\int_{1 / \epsilon}^{\infty} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p} \rightarrow 0, \text { as } \varepsilon \rightarrow 0
$$

Lastly from Lemma 8,

$$
\begin{aligned}
&\left|J_{2}\right|=O\left(\varepsilon^{\frac{\alpha-1}{p}+\delta-k+1}\right) \cdot\left(\int_{N}^{1 / \epsilon} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p} \\
& \times\left(\int^{1 / \epsilon} \frac{1}{y^{\alpha}}\left|\frac{\bar{S}_{k-1}^{-(\alpha-1) / p+\delta)}\left\{\bar{S}_{k-1}^{-(k-1-(\alpha-1)!p-\delta)}(\cos \lambda y)\right\}}{y^{h}}\right|^{q} d y\right)^{1 / q} \\
&=O\left(\varepsilon^{\frac{\alpha-1}{p+\delta-k+1}}\right)\left(\int_{N}^{1 / \epsilon} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p} \times
\end{aligned}
$$

$$
\begin{aligned}
& \times\left(\left.\int_{N}^{1 / \epsilon} \frac{1}{y^{\alpha}} \cdot \frac{S_{-1}^{-((\alpha-1) \mid p+\delta)} O\left((\varepsilon y)^{k-1-(\alpha-1) / p-\delta}\right)}{y^{h}}\right|^{q} d y\right)^{1 / q} \\
= & O\left(\int_{N}^{1 / \epsilon} \frac{1}{\left.y^{\alpha+g^{h+q(\alpha-1 / p+\delta-k+1)}} d y\right)\left(\int_{N}^{1 / \epsilon} \frac{|f(y)|^{p}}{y^{\alpha}} d y\right)^{1 / p}}\right.
\end{aligned}
$$

and

$$
\begin{aligned}
& \alpha+q h+q((\alpha-1) / p+\delta-k+1)=q(\alpha / q+h+(\alpha-1) / p+\delta-k+1) \\
& \quad=q(-1 / p+\delta+1)=1+q \delta>1 .
\end{aligned}
$$

Therefore

$$
\begin{gathered}
\left|J_{2}\right|=O\left(\int_{N}^{1 / \epsilon} \frac{d y}{y^{1+\ell \delta}}\right)^{1 / 1}\left(\int_{N}^{1 /} \frac{|f(y)|^{p}}{y^{\alpha}}-d y\right)^{1 / p} \\
\lim _{\epsilon \rightarrow 0}\left|J_{2}\right| \leqq \eta
\end{gathered}
$$

Since $\eta$ is arbitrarily small, we get

$$
\lim _{\epsilon \rightarrow 0} \Gamma_{\lambda}(\varepsilon, n)=0 .
$$

The other estimations are derived by the similar way.

## References

[1] J.C.Burkill., The expression in Stieltjes integrals of the inversion formulae of Fourier and Hankel, Proc. London Math. Soc., 25(1926), 513-524.
[2] K. Chandrasekharan and O. Szász, On Bessel summation, Amer. Journ. of Math., 70(1948), 709-729.
[3] H. Hahn, Uber die Methode der arithmetischen Mittel in der Theorie der verallgemeinerten Fourierintegrale, Wiener Berichte, IIa, 134(1925), 447-470.
[4] H. HAHN, Über eine Verallgemeinerung der Fourierschen Integralformal, Acta Math, 49(1927), 301-353.
[5] G. H. Hardy and J. E. Littlewood, The second consistency for summable series, Proc. London Math. Soc., 15(1916), 72-88.
[6] S. Izumi, On the generalized Fourier integrals, Science Rep. Tôhoku Imp. Univ., I, 23(1935), 880-906; II, 23(1935), 907-919.
[7] E. C. Titchmarsh, Theory of Fourier integrals, Oxford 1937.
mathematical Institute, Tôhoku University, Sendai.

